Calcola in riga velocemente le seguenti moltiplicazioni

12 X 1.000 = ................ 3, X10= i,

8X 100 =...ccvviiirriinens 18,15X 10 =...cccvvrrveens
789X 10 = .cccoiriiiinne 73,1X10= oo,
156 X 1.000 = ........ccveuenne 1,456 X 1.000 = .......cocevvueenene
6,901 X100 = .........c..e 4,5X100 = ..coceevivrrinnn.

90 X100 = ...cceevvvrrirnnne. 0,4X10=.coiiciiiiiine
500 X100 = ....cccevruvinnne 0,09X10= .o
1,2X10= s 1,3X1.0000 ....ccooruvrurrnnnns
8X10.000 = .....cccevrurennen. 0,8 X100 = ...ccevvvviiriieines
7,12 X100 ..ccorviiiinnn, 0,05X10=....cccveunne.
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12 X 1.000 = ................ 34X10= i

8X 100 =..cocvrriiineiens 18,15 X 10 =..ocvvreeens
789 X10= ..o 73,1X10= .o
156 X 1.000 = .......ccceeueeneee 1,456 X 1.000 = ......cccerrueenene
6,901 X100 = ......cceeue 4,5X100 = ..ccceevirrrinnn.

90 X100 = ...cceevvvrrirnnne 0,4X10= .o
500 X100 = ...ceecvrrvvennne 0,09X10= .coveirieeirne
1,2X10= i 1,3X1.0000 ....ccoovuerrinnnee
8X10.000 = ....cccoovurruenen. 0,8 X100 = ..cocevvvriireceenne
7,12 X100 ..ccorviiririnnne 0,05X10 =i
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